І варіант
1. Обчислити:

а) -1,7 + 8,3; б) -1,7 + (-8,3);

в) -20,4 – (-3,4); г) -20,4 – (+3,4).

2. Обчисли зручним способом: 

а) 
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3. Розв’яжи рівняння:
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4. Знайди значення виразу, 
попередньо спростивши:

а) 
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5. Знайди суму всіх цілих розв’язків нерівності: 
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ІІ варіант
1. Обчислити:

а) -2,8 + (-4,7); б) -2,8 + (+4,7);

в) 40,7 – (-7,9); г) -40,7 – (-7,9).
2. Обчисли зручним способом: 

а) 
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3. Розв’яжи рівняння:

а) 
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4. Знайди значення виразу, попередньо спростивши:

а) 
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5. Знайди суму всіх цілих розв’язків нерівності: 
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